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Question Bank

1. Find the equation of the circle passing

through the three 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E43n7VK1yLNU


Points (0,0) ,(a,0) and (0,b).

Watch Video Solution

2. Find the equation of the circle which

touches the lines x=0 ,y=0 and x=c

Watch Video Solution

3. Two lines 2x-3y=5 and 3x-4y=7 are diameters

of a circle of area 154 sq units. Then find the

equation of the circle.

https://dl.doubtnut.com/l/_E43n7VK1yLNU
https://dl.doubtnut.com/l/_doKiiR2Ki95j
https://dl.doubtnut.com/l/_iAEC3jGKZHNT


Watch Video Solution

4. Find the equation of the circle which passes

through the points 
 and

whose center lies on the line 

Watch Video Solution

(1, − 2), (4, − 3)

3x + 4y = 7.

5. Without drawing the figure determine

whether the points (0,0),(-2,1),(4,-3),(2,6),(0,-1)

https://dl.doubtnut.com/l/_iAEC3jGKZHNT
https://dl.doubtnut.com/l/_iQBiUGP7QDSR
https://dl.doubtnut.com/l/_gvBw7xkkTU1J


lie outside the circle or on or inside the circle

Watch Video Solution

x2 + y2 − 5x + 2y − 5 = 0

6. Find the equation of the tangent at the

point (0,2) to the circle

Watch Video Solution

x2 + y2 − 4x + 2y − 8 = 0

https://dl.doubtnut.com/l/_gvBw7xkkTU1J
https://dl.doubtnut.com/l/_4F0FXSW7juhb


7. Prove that the tangents from the point (0,5)

to the two circles  and

 are of equal

length.

Watch Video Solution

x2 + y2 + 2x − 4 = 0

x2 + y2 − 6x − 4y + 16 = 0

8. Find the equation of the circle which is such

that the lengths of the tangents to it from the

points (1,0),(0,2) and (3,2) are 1,  and 

respectively.

√7 √2

https://dl.doubtnut.com/l/_pJa6xuWrxwj4
https://dl.doubtnut.com/l/_mLQXEaxOYpoU


Watch Video Solution

9. Find the equations to the common tangents

of the circles  and 

Watch Video Solution

x2 + y2 − 2x − 6y + 9 = 0

x2 + y2 + 6x − 2y + 1 = 0

10. Find the equation of the normal to the

circle  At the point (4,3)

Watch Video Solution

x2 + y2 = 25

https://dl.doubtnut.com/l/_mLQXEaxOYpoU
https://dl.doubtnut.com/l/_nhchdUzS9teh
https://dl.doubtnut.com/l/_WHjoTlpojaKS


11. Find the equation of the normal to the

circle  from the point (5,,6)

Watch Video Solution

x2 + y2 = 25

12. Find the equation of the normal to the

circle  of slope =3

Watch Video Solution

x2 + y2 = 25

https://dl.doubtnut.com/l/_S4Gqg9GMdQbp
https://dl.doubtnut.com/l/_5eYgMIuDuGNH


13. Find the equation of the normal to the

circle  At the point(6,8)

Watch Video Solution

x2 + y2 − 6x − 8y = 0

14. Find the equation of the normal to the

circle  from the

point(1,6)

Watch Video Solution

x2 + y2 − 6x − 8y = 0

https://dl.doubtnut.com/l/_Gl9Gq6FjO6lB
https://dl.doubtnut.com/l/_rik0nbScmP8h


15. Find the equation of the normal to the

circle  of slope =4

Watch Video Solution

x2 + y2 − 6x − 8y = 0

16. The length of the diameter of the circle

 is -

A. 9

B. 3

C. 4

x2 + y2 − 4x– 6y + 4 = 0

https://dl.doubtnut.com/l/_aoC2G4SWR8VB
https://dl.doubtnut.com/l/_cw7K4B78O81P


D. 6

Answer: D

Watch Video Solution

17. Which of the following is the equation of

circle

A. 

B. 

C. 

x2 + 2y2 − x + 6 = 0

x2 − y2 + x + y + 1 = 0

x2 + y2 + xy + 1 = 0

https://dl.doubtnut.com/l/_cw7K4B78O81P
https://dl.doubtnut.com/l/_wxsSOZvx19at


D. 

Answer: D

Watch Video Solution

3(x2 + y2) + 5x + 1 = 0

18. The equation of the circle passing through

(3,6) and whose centre (2,-2) is

A. 

B. 

C. 

x2 + y2 − 4x + 2y = 45

x2 + y2 − 4x + 4y = 57

x2 + y2 + 4x − 2y = 45

https://dl.doubtnut.com/l/_wxsSOZvx19at
https://dl.doubtnut.com/l/_D0RhOHi3Mhxr


D. 

Answer: A

Watch Video Solution

x2 + y2 − 4x + 2y + 45 = 0

19. If (4,3) and (-12,-1) are the end points of a

diameter of a circle then the equation of the

circle is

A. 

B. 

x2 + y2 − 8x − 2y − 51 = 0

x2 + y2 + 8x − 2y − 51 = 0

https://dl.doubtnut.com/l/_D0RhOHi3Mhxr
https://dl.doubtnut.com/l/_WBvkqt2m9UTg


C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + 8x + 2y − 51 = 0

20. The radius of the circle passing through

the points (0,0),(1,0)and(0,1) is

A. 2

B. 
1

√2

https://dl.doubtnut.com/l/_WBvkqt2m9UTg
https://dl.doubtnut.com/l/_T7gkhhBNgXuR


C. 

D. 

Answer: B

Watch Video Solution

√2

1

2

21. The radius of a circle with centre  and

passing through the centre of the circle

 is -

A. 

(a, b)

x2 + y2– 2gx + f 2 = 0

√(a − g)2 + b2

https://dl.doubtnut.com/l/_T7gkhhBNgXuR
https://dl.doubtnut.com/l/_0csYS5LH9Pr3


B. 

C. 

D. 

Answer: A

Watch Video Solution

√a2 + (b + g)2

√a2 + (b − g)2

√(a + g)2 + b2

22. If (x, 3) and (3,5) are the extremities of a

diameter of a circle with centre at (2, y), then

the value of x and y are

https://dl.doubtnut.com/l/_0csYS5LH9Pr3
https://dl.doubtnut.com/l/_l1uyuRMRj4Pq


A. x=1,y=4

B. x=4,y=1

C. x=8 , y=2

D. none of these

Answer: A

Watch Video Solution

23. If (0,1) and (1,1) are ends points of a

diameter of a circle then its equation is

https://dl.doubtnut.com/l/_l1uyuRMRj4Pq
https://dl.doubtnut.com/l/_m6EQgm54y6dO


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − x − 2y + 1 = 0

x2 + y2 + x − 2y + 1 = 0

x2 + y2 − x − 2y − 1 = 0

24. The co-ordinates of any point on the circle

 arex2 + y2 = 4

https://dl.doubtnut.com/l/_m6EQgm54y6dO
https://dl.doubtnut.com/l/_QzpX4Q2xQpmx


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(cosα, sinα)

(4 cosα, 4 sinα)

(2 cosα, 2 sinα)

(sinα, cosα)

25. The parametric coordinates of a point on

the circle  arex2 + y2 − 2x + 2y − 2 = 0

https://dl.doubtnut.com/l/_QzpX4Q2xQpmx
https://dl.doubtnut.com/l/_2uohUy3RC961


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 − 2 cosα, 1 − 2 sinα)

(1 + 2 cosα, 1 + 2 sinα)

(1 + 2 cosα, − 1 + 2 sinα)

( − 1 + 2 cosα, 1 + 2 sinα)

26. If the equation

px2 + (2 − q)xy + 3y2 − 6qx + 30y + 6q = 0

https://dl.doubtnut.com/l/_2uohUy3RC961
https://dl.doubtnut.com/l/_FCGqRCIvyoLz


represents a circle, then find the values of

A. 2,2

B. 3,1

C. 3,2

D. 3,4

Answer: C

Watch Video Solution

pandq.

https://dl.doubtnut.com/l/_FCGqRCIvyoLz


27. The circle represented by the equation

 will be a point

circle, if

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

g2 + f 2 = C

g2 + f 2 + c = 0

g2 + f 2 > c

https://dl.doubtnut.com/l/_WeOfM7BEapci


28. The point where the line x=0 touches the

circle  is

A. (0,1)

B. (0,2)

C. (0,3)

D. no where

Answer: C

Watch Video Solution

x2 + y2 − 2x − 6y + 9 = 0

https://dl.doubtnut.com/l/_SypvVNwEqsGE
https://dl.doubtnut.com/l/_ACzyNaNixfZF


29. Position of the point  with respect to

the circle  is

A. outside the circle

B. inside the circle

C. upon the circle

D. none of these

Answer: A

Watch Video Solution

(1, 1)

x2 + y2 − x + y − 1 = 0

https://dl.doubtnut.com/l/_ACzyNaNixfZF


30. The equation to a circle with centre(2,1)

and touching x axis is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + 4x + 2y + 4 = 0

x2 + y2 − 4x − 2y + 4 = 0

x2 + y2 − 4x − 2y + 1 = 0

https://dl.doubtnut.com/l/_uz7fBHEMnfCa
https://dl.doubtnut.com/l/_h5N9sErJ4JPS


31. The circle  is

A. touches x axis only

B. touches both axis

C. passes through the origin

D. touches y axis only

Answer: B

Watch Video Solution

x2 + y2 − 4x − 4y + 4 = 0

https://dl.doubtnut.com/l/_h5N9sErJ4JPS


32. The equation of tangents drawn from the

point (0,1) to the circle

 are

A. 2x-y+1=0 ,x+2y-2=0

B. 2x-y-1=0 ,x+2y-2=0

C. 2x-y+1=0,x+2y+2=0

D. 

Answer: A

Watch Video Solution

x2 + y2 − 4x − 2y + 4 = 0

x = ± √3(y − 1)

https://dl.doubtnut.com/l/_kBNYUMWJ7Cvz


33. If y=c is a tangent to the circle

 at (1, 1), then the

value of c is

A. 1

B. 2

C. -1

D. -2

Answer: A

Watch Video Solution

x2 + y2– 2x + 2y– 2 = 0

https://dl.doubtnut.com/l/_qY6sUW5eqVOC


34. The equation of the normal to the circle

 at the point  is

A. 

B. x+y=0

C. x-y=0

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = 9 ( , )
1

√2

1

√2

x − y =
√2

3

https://dl.doubtnut.com/l/_akNaKr2eMIsL
https://dl.doubtnut.com/l/_bmAV9Fnm3FWP


35. The equation of the normal at the point

(4,-1) of the circle 

is

A. x+4y=0

B. 4x+y=3

C. x-4y=0

D. 4x-y=0

Answer: A

Watch Video Solution

x2 + y2 − 40x + 10y = 153

https://dl.doubtnut.com/l/_bmAV9Fnm3FWP


36. Find the equation of the circle with

centre(1,2) and radius 2

Watch Video Solution

37. Find the equation of the circle with

centre(-2,1) and radius 3

Watch Video Solution

https://dl.doubtnut.com/l/_OUHJbkzThn25
https://dl.doubtnut.com/l/_SgPE4Ih67qia


38. Find the equation of the circle with center

 and radius .

Watch Video Solution

( , )
1

2

1

3

1

6

39. Find the equation of the circle with

centre(-1,-3) and radius 

Watch Video Solution

√3

https://dl.doubtnut.com/l/_mMdVukUcKUdM
https://dl.doubtnut.com/l/_lRfA3AT06jNF


40. Find the equation of the circle with

centre(h,k) and radius 

Watch Video Solution

√h2 + k2

41. Find the centre and the radius of the given

circles. 

Watch Video Solution

(x + 1)2 + (y − 2)2 = 9

https://dl.doubtnut.com/l/_mvbZT9dDkfhc
https://dl.doubtnut.com/l/_oF7gdLdxqTLd


42. Find the centre and radius of the circle

Watch Video Solution

(x + 2)2 + (y + 3)2 = 5

43. Find the centre and the radius of the circle

.

Watch Video Solution

x2 + y2 + 8x + 10y − 8 = 0

https://dl.doubtnut.com/l/_02BNyTHWAGk5
https://dl.doubtnut.com/l/_AdAg3hmdGbQB


44. Find the centre and radius of the circles

Watch Video Solution

2x2 + 2y2 − x = 0

45. Find the equation of the tangenet to each

circle at the point specified, Circle

 , point (4,-2)

Watch Video Solution

x2 + y2 − 2x − 4y − 20 = 0

https://dl.doubtnut.com/l/_0Skq7KPeqzHz
https://dl.doubtnut.com/l/_UdGphR47gy0a


46. Find the equation of the tangenet to each

circle at the point specified, Circle

 , point (1,3)

Watch Video Solution

x2 + y2 + 4x + 2y − 20 = 0

47. Find the equation of the tangenet to each

circle at the point specified, Circle

 , point (-3,-10)

Watch Video Solution

x2 + y2 − 6x + 4y − 87 = 0

https://dl.doubtnut.com/l/_6RYrHXLCbvFY
https://dl.doubtnut.com/l/_TbCjqUVaaz6u
https://dl.doubtnut.com/l/_PztJSLfkMaGx


48. Find the equation of the circle passing

through the points (4, 1) and (6, 5) and whose

centre is on the line .

Watch Video Solution

4x + y = 16

49. Find the equation of the circle passing

through the points 
and 
and

whose centre is on the
 line


.

Watch Video Solution

(2,  3) (1,  1)

x   3y   11  =  0

https://dl.doubtnut.com/l/_PztJSLfkMaGx
https://dl.doubtnut.com/l/_kvC4puCH3zq7


50. Find the equation of the circle with radius

5 whose centre lies on
 xaxis and passes

through the point (2, 3).

Watch Video Solution

51. Find the equation of the circle passing

through (0, 0) and making
 intercepts a and b

on the coordinate axes.

Watch Video Solution

https://dl.doubtnut.com/l/_Pm1AmpMabUJO
https://dl.doubtnut.com/l/_5rOGniW7fpdi
https://dl.doubtnut.com/l/_JO2Xh5V780oO


52. Find the equation of a circle with centre (2,

2) and passes
through the point (4, 5).

Watch Video Solution

53. Does the point (-2,4) lie inside . Outside or

on the circle 

Watch Video Solution

x2 + y2 = 25

https://dl.doubtnut.com/l/_JO2Xh5V780oO
https://dl.doubtnut.com/l/_FntEIHRldsjb


54. The square of the length of tangent from

(3, –4) on the circle 

Watch Video Solution

x2 + y2– 4x– 6y + 3 = 0

55. If the circles 

and  touch each

other find their point of contact

Watch Video Solution

x2 + y2 + 2x − 8y + 8 = 0

x2 + y2 + 10x − 2y + 22 = 0

https://dl.doubtnut.com/l/_6eEN6mFBjjaH
https://dl.doubtnut.com/l/_3jkdcaLBvBnz


56. If the lines 2x-3y+1=0 and 3x+y-4=0 lie along

diameters of a circle of circumference is  .

Then find the equation of the circle.

Watch Video Solution

10π

57. If the lines 0 and 

 are two diameters of a circle

of area  square units, the equation of the

circle is:

Watch Video Solution

3x − 4y − 7 =

2x − 3y − 5 = 0

49π

https://dl.doubtnut.com/l/_ibmKOMlavWvZ
https://dl.doubtnut.com/l/_uH1oGXMd9M2Z


58. The equation of the circle passing through

the point  and having the

smallest radius is

Watch Video Solution

(1, 0) and (0, 1)

59. The centre of a circle passing through the

points (0, 0), (1, 0) and touching the circle

, is

Watch Video Solution

x2 + y2 = 9

https://dl.doubtnut.com/l/_uH1oGXMd9M2Z
https://dl.doubtnut.com/l/_NQ1sidztjViT
https://dl.doubtnut.com/l/_EHnJBa8a4tf0


60. Find the number of common tangents to

the circles  and 

Watch Video Solution

x2 + y2 = 4

x2 + y2 − 6x − 8y = 24

61. Find the points of intersection of the line

y=2x+1 and the circle . Find

the equation of the tangent to the circle at

one of the point of intersection.

Watch Video Solution

x2 + y2 − 2y = 0

https://dl.doubtnut.com/l/_glnAeuYG1X31
https://dl.doubtnut.com/l/_C1XR90KRm9iQ


62. Find the points of intersection of the line

 and the circle 

 what are the

tangents at the point of intersection?

Watch Video Solution

x + y = 3

x2 + y2 − 2x − 2y + 1 = 0

63. Find the points where the circle

 and the line

y+2x=10 intersect.Find the equation of the

x2 + y2 − 10x − 10y + 40 = 0

https://dl.doubtnut.com/l/_C1XR90KRm9iQ
https://dl.doubtnut.com/l/_95RUnOW71xwf
https://dl.doubtnut.com/l/_Xs58mNIXNg86


tangent to the circle at each of the points of

intersection.

Watch Video Solution

64. For each of that parabolas, find the

coordinates of the focus, the equation of the

directrix and the length of latus rectum :

Watch Video Solution

y2 = 12x

https://dl.doubtnut.com/l/_Xs58mNIXNg86
https://dl.doubtnut.com/l/_rMXN0Qt7K9L4


65. Find the co-ordinate of the focus, axis,

equation of the directrix and latus rectum of

the parabola 

Watch Video Solution

x2 = − 4y

66. Find the equation of the parabola with

focus (2, 0) and directrix .

Watch Video Solution

x = − 2

https://dl.doubtnut.com/l/_wjrw4kO4BDdd
https://dl.doubtnut.com/l/_R3hlXrCcvW4L


67. Find the equation of the parabola which is

symmetric about the X-axis, centered at origin

and passes through the point(4,-6).

Watch Video Solution

68. 

Watch Video Solution

+ = 1
x2

16

y2

9

https://dl.doubtnut.com/l/_aBFud4lQflyl
https://dl.doubtnut.com/l/_GEyCou2RvSk8


69. Find the equation of the ellipse whose

vertices are  and foci are .

Watch Video Solution

( ± 6, 0) ( ± 4, 0)

70. Find the equation of the ellipse,whose

length of the major axis is 10 and foci are

.

Watch Video Solution

(0, ± 2)

https://dl.doubtnut.com/l/_BgnHq9ksL23S
https://dl.doubtnut.com/l/_maZrf2tOyP1T


71. Find the equation of the ellipse which

passes through the points (2,0) and (0,1).

Watch Video Solution

72. Find the coordinates of the foci and the

vertices, the eccentricity and the length of the

latus rectum of the hyperbolas.

Watch Video Solution

16x2 − 9y2 = 576

https://dl.doubtnut.com/l/_mgeGFW5jxC91
https://dl.doubtnut.com/l/_5OzFfcm9OD4c
https://dl.doubtnut.com/l/_8xvkimd7vp2M


73. The equation of the hyperbola with foci

 and vertices  is

Watch Video Solution

(0, ± 5) (0, ± 3)

74. Find the equation of the hyperbola where

foci are and the length of the latus

rectum is 36.

Watch Video Solution

(0, ± 12)

https://dl.doubtnut.com/l/_8xvkimd7vp2M
https://dl.doubtnut.com/l/_u7ByJNQPoB55


75. The focus of the parabola  is

A. (2,0)

B. (3,0)

C. (4,0)

D. (6,0)

Answer: C

Watch Video Solution

y2 = 16x

https://dl.doubtnut.com/l/_gHFt1SvKQyUF


76. The length of the latus rectum of the

parabola  is

A. 4

B. 6

C. 8

D. 10

Answer: A

Watch Video Solution

y2 = 8x

https://dl.doubtnut.com/l/_tLpdiik4hcqN
https://dl.doubtnut.com/l/_nNYXhyUJUfm3


77. Find the equation of the parabola with

focus (2, 0) and directrix .

A. 

B. 

C. y^2=4x`

D. 

Answer: A

Watch Video Solution

x = − 2

y2 = 8x

y2 = 6x

y2 = 10x

https://dl.doubtnut.com/l/_nNYXhyUJUfm3


78. The equation of the parabola passes

through the parabola (1,1) and (2,4)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = x

x2 = y

x2 = 4y

y2 = 4x

https://dl.doubtnut.com/l/_JKyZDRGWI7iT
https://dl.doubtnut.com/l/_3ixxkurnubjx


79. The coordinate of foci of the ellipse

 is

A. (-4,0) and (4,0)

B. (-3,0) and (3,0)

C. (-9,0) and(9,0)

D. (-5,0) and (5,0)

Answer: A

Watch Video Solution

+ = 1
x2

25

y2

9

https://dl.doubtnut.com/l/_3ixxkurnubjx


80. Eccentricity of the ellipse  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ = 1
x2

25

y2

9

4

5

5

4

3

5

4

9

https://dl.doubtnut.com/l/_yFRQzm1j7B2E


81. The length of the major axis of the ellipse is

A. 2

B. 4

C. 6

D. 8

Answer: C

Watch Video Solution

9x2 + 4y2 = 36

https://dl.doubtnut.com/l/_bj2JtCYzzMDc
https://dl.doubtnut.com/l/_NMk4zSGEN0gc


82. The equation of the ellipse passes through

the points (4,0) and (0,2) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = 1
x2

4

y2

16

+ = 1
x2

16

y2

4

+ = 1
x2

4

y2

2

+ = 1
x2

2

y2

4

https://dl.doubtnut.com/l/_NMk4zSGEN0gc


83. The coordinate of foci of the hyperbola

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

− = 1
x2

9

y2

16

( ± 4, 0)

( ± 5, 0)

( ± 6, 0)

( ± 3, 0)

https://dl.doubtnut.com/l/_OvXnjEVpVcVY
https://dl.doubtnut.com/l/_We7EqhrW7Tl1


84. Find the length of the axes , the

coordinates of the vertices and the foci, the

eccentricity and length of the latus rectum of

the hyperbola 

A.  and 

B.  and 

C.  and 

D. 

Answer: D

y2 − 16x2 = 16.

√17

4

1
2

√17
2

1

4

√17

4

1

4

√17

8

https://dl.doubtnut.com/l/_We7EqhrW7Tl1


Watch Video Solution

85. Find the coordinates of the focus, axis of

the parabola, the equation of the directrix and

the length of the latus rectum.

Watch Video Solution

x2 = 6y

86. Find the coordinates of the focus,axis of

the parabola, the equation of the directrix and

length of the latus rectum 

Watch Video Solution

y2 = − 8x

https://dl.doubtnut.com/l/_We7EqhrW7Tl1
https://dl.doubtnut.com/l/_rkOSmID7ir3P
https://dl.doubtnut.com/l/_wB7q8eoOvtyy


87. Vertex (0, 0) passing through (2,3) and axis

is along x-axis.

Watch Video Solution

88. Find the equation of the parabola with

vertex (0,0) and focus (3,0).

Watch Video Solution

https://dl.doubtnut.com/l/_wB7q8eoOvtyy
https://dl.doubtnut.com/l/_HxMMaJz1mAuG
https://dl.doubtnut.com/l/_z5mcqKaf233Z


89. Find the equation of the parabola with

focus F(0,-3) and directrix y=3.

Watch Video Solution

90. Find the coordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

latus rectum of the ellipse 

Watch Video Solution

+ = 1
x2

4

y2

16

https://dl.doubtnut.com/l/_ZVgbBAlkVL5E
https://dl.doubtnut.com/l/_CKVbYrPXAvLA
https://dl.doubtnut.com/l/_ew26wrhfd9Md


91. Find the coordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

latus rectum of the ellipse 

Watch Video Solution

+ = 1
x2

16

y2

9

92. The equation of the ellipse whose vertices

are  and foci at  is

Watch Video Solution

( ± 5, 0) ( ± 4, 0)

https://dl.doubtnut.com/l/_ew26wrhfd9Md
https://dl.doubtnut.com/l/_VfjprbD6eFiC
https://dl.doubtnut.com/l/_EuTNkrpTcaVQ


93. Find the equation of the ellipse in the

following
 case: ends of major axis 

ends of minor axis 

Watch Video Solution

( ± 3, 0)

(0, ± 2)

94. Find the equation of the ellipse having,

length of major axis 26 and foci 

Watch Video Solution

( ± 5, 0)

https://dl.doubtnut.com/l/_EuTNkrpTcaVQ
https://dl.doubtnut.com/l/_L2FVnMoVtWsm


95. Find the coordinates of the foci and the

vertices, the eccentricity and the length of the

latus rectum of the hyperbolas.

Watch Video Solution

9y2 − 4x2 = 36

96. Find the coordinates of the foci and the

vertices, the eccentricity and the length of the

latus rectum of the hyperbolas.

Watch Video Solution

− = 1
x2

16

y2

9

https://dl.doubtnut.com/l/_eWmeE11Faztl
https://dl.doubtnut.com/l/_0YLhvhBO44ho


97. Find the equation of the hyperbola having :

vertices .

Watch Video Solution

(0, ± 3) and foci(0, ± 5)

98. Find the equations of the hyperbola

satisfying the given conditions :Foci ,

the latus rectum is of length 12

Watch Video Solution

( ± 4, 0)

https://dl.doubtnut.com/l/_0YLhvhBO44ho
https://dl.doubtnut.com/l/_wHLgSUBgeouC
https://dl.doubtnut.com/l/_4IIrJqvGGpLC
https://dl.doubtnut.com/l/_ESAGf55m4Ayh


99. Find the equations of the hyperbola

satisfying the given conditions :Foci ,

the transverse axis is of length 8.

Watch Video Solution

( ± 5, 0)

100. Find the equations of the hyperbola

satisfying the given conditions :Foci 

, the conjugate axis is of length 24.

Watch Video Solution

(0, ± 13)

https://dl.doubtnut.com/l/_ESAGf55m4Ayh
https://dl.doubtnut.com/l/_NAILLbcUIZl2


101. Find the eccentricity and length of the

latus rectum of the ellipse 

Watch Video Solution

x2 + 2y2 = 3

102. What are the lengths of major axis and

minor of the ellipse 

Watch Video Solution

9x2 + 16y2 = 144

https://dl.doubtnut.com/l/_6cWsLvNANTgx
https://dl.doubtnut.com/l/_7k4LJ4pQ9EBG


103. Find the coordinates of the

centre,vertices, foci and the equation of the

directrices of the hyperbola 

Watch Video Solution

9x2 − 16y2 = 144

104. The parabola  px passes through

are point (1,2). Find the co-ordinate of focus,

length of latus rectum and equation of

directrix of the parabola.

Watch Video Solution

y2 = 4

https://dl.doubtnut.com/l/_uYiVQ0pJcr9k
https://dl.doubtnut.com/l/_Lg4ogUOpn99g


105. Find the coordinates of foci, equation of

directrices of the ellipse 

Watch Video Solution

+ = 1
x2

9

y2

4

106. Find the equation of the parabola with

focus at (1,-3) and the directrix x-2y+3=0.

Watch Video Solution

https://dl.doubtnut.com/l/_Lg4ogUOpn99g
https://dl.doubtnut.com/l/_3n5K44RqLAtn
https://dl.doubtnut.com/l/_08DXevbgBP35


107. Find the co-ordinate of focus and the

equation of the directrix of the parabola

, if it passes through the point(3,-2).

Watch Video Solution

y2 = 4ax

108. Find the vertex, focus, length of the latus

rectum , equation of directrix of the parabola

.

Watch Video Solution

3y2 = 5x

https://dl.doubtnut.com/l/_sVxWKCjWnaH2
https://dl.doubtnut.com/l/_dwAbEydrgRCK
https://dl.doubtnut.com/l/_NjWeqsZUUCgE


109. If the eccentricities of the ellipses

 and  be same

show that 

Watch Video Solution

+ ∣ = 1
x2

α2

y2

β2
+ = 1

x2

a2

y2

b2

aβ = bα

110. Find the length of latus rectum, equation

of directrices of the ellipse .

Watch Video Solution

12x2 + 9y2 = 144

https://dl.doubtnut.com/l/_NjWeqsZUUCgE
https://dl.doubtnut.com/l/_0fzvAmWgwLcA

